R/ ESIE RS
Bl= : 8524

Nz

BT H BB (BRI, 1% R SH R
AR RS AT DL AR S0 = I Tl IR ik
A AT o o RS b PRV 3, IR A R B
LU SRR BA ISR, BT HARMEL
P40 5 AR I AN ] PR R 22 . 8524 A5 AT AR
PWEAFMETR, HFMEES, RS
sk FIE 77
LAY S FH AT A G -
> & N FIHRA 7T 6
>l =
> S B YIFIYIHEI T
D> 3 P 0B R 2 2 e R ) 47 )
 UR=e\07 NN A
W — A E O R R AEAT BE s, R DU T
MBS MR, BROP. B 5%, (B
WA 4 T A EHOR)

® £72 0 ~ 500N F| 0 ~ 200kN.
m S EREE 0.25%F.S.
®mEfE7 0..5kN &, NEFEHETIX 0.1%F.S.
W NESERE 0~ 20kN AN, BT HRIPIEA
B ERAEESRE 1.5mVIV.
AN AN K
i
IR AR N IS AR AR fr, TEAR IR AR 2 3
TN, B B B A S AR R E
FERTHE S 5o AR BES MEN, Shnddig fi/
JE e R RS b, DB RIS el A 7y B
J7. AT A N e Bk 2 B N EE Rl A . A
EAE 0~ 5kN 146, HFELRIEEAANEE, &
AR B A [ AR /KT IR AP JECHE, T
ZEFE DL A RER R S 3 AN TR SCHEE (LR
1), WA BHE,

TN 5 A N G Lk e T 2 R A S (91
Wi R A L. TR R R
HRHIEFEE) . AL IR AN 54 T i N RS 1L,
A] 5 {8 Hb 2 2 A5 RS

20kN DL F &2, ARl #S s, ok
A% 1 AR 5 [RIEAS X 1) 7 ) A 52 TR 40 e
1 5%, FILPARZm TAE,



BOARKE

i) R | Rd mm FOIL | ZR | AR | Eh | RoBE
A2 Hz ke H Nm
@D1 | @D2 | 0D3 | @D4 | H 96 | @ X | Y | W

8524-5500 | 0..+0.5N | 54.5 | 15 35,5 | 33,5 | 16 | 45 | 45 8 114 | M8X1.25 | 3 > 2 | 0.25 3

8524-6001 | 0..%£1kN | 54.5 | 15 35,5 | 335 (16 | 45 | 45 8 11.4 | M8X1.25 | 3 > 3] 0.25 3

8524-6002 | 0..%£2kN | 54.5 | 15 355 | 335 |16 | 45 | 45 8 114 | M8X1.25 | 3 > 5 1 0.25 3

8524-6005 | 0..%£5kN | 54.5 | 15 35,5 | 345 |16 | 45 | 45 8 11.4 | M8X1.25 | 6 > 8 | 0.25 3

8524-6010 | 0..£10kN | 54.5 | 15 35,5 | 345 | 16 | 45 | 45 8 11.4 | M8X1.25 | 6 >12 | 0.25 3

8524-6020 | 0..+20kN | 79 22 59 58.6 | 25 | 68 | 4.5 8 204 | M12X1.5 | 8 > 4 | 0.65 3

8524-6050 | 0..£50kN | 119 44 94 92.6 | 35 | 105 | 6.6 11 | 28.2 | M12X1.5 | 8 > 3|2 10

8524-6100 | 0..+100kN | 155 60 109 107 |50 | 129 | 135 | 20 | 365 | M24 X3 | 8 > 3|5 100

8524-6200 | 0..+200kN | 155 60 109 107 | 50 | 129 | 135 | 20 | 365 | M36 X3 | 8 > 5|5 100
HSSH
A 2 FL P (A L) TERAZF HUUE HPRAA: 350Q s 20kN AT 5OKN: HIZEZE 4% Smm, 25 k4 20mm, &
W K 10VDC 5 10VAC RS, PG IBEUE BebR (L L A Y
R 1.5mV/V+ 0.25 %, & JJIE A% LR~ 3).

¥ v LB (burster 545 1148-6080): 80 kQ + 0.1 %, K% HFH,
S S S WL . *SEpRE AT RSP LA Wz

R % s

I AME
Al P 9
TR in R
AR Ve el i
VLS
KL

CHEZ . BT E S ZRE1ED

15°C ... 70 °C

-30°C ... +80 °C
< 0.02% F.S./K
< 0.02% Rdg./K

< +0.25% F.S.

TERAY: S AhA 48 75 ) (RN I A0 ), T o A 5 8 IR

IR :
UEC R
NS iR\
ISR
M :

RIPFEL

T

< 80pm
150 %RE H1#,
KT 250%%5E f1 %k

LT TO%HE 1%, AKE 100%50E 1%

2y 2m KPRk,

ANEFEN 1.4542

54 60529 ME, <0...10kN: IP52

=0...20kN: P67

o RIGE AT, — IR R ik

1% 10kN AT : HZS B4R 5mm, 4200 Ba8 4 H st
4JRE K 10mm BiE 6mm:
Wi ik A By 1R 254, K RF 30mm, E4% 5.5mm, 25 iR
25mm(ILEE 1 858 2 R~FIE)

Protection againet

/'—,’

Meda
9/4
27
&

\Nio/kina)

545 o 18

45
@
|
&)

I

JEH 100kN LA Jz 200kN: HE45ZEE 42 7mm, 25 155/ 36mm,
Pl 2R 2k, PG BBSUERE A

L 4.
B B MR E
e R ﬁ
o HEE E
s mams Ly

R 2 RSB,
HFE<O0...2kN BRI TEAR LN LI %%, FEH 1mm
M. 250g...5kg, Wi
FETC
BFE0...2kN LAY : 3BFLLA K 3 A (R B 1).
&2 0...5kN & LA F: 688 MEFLULR T El 2-4).
18 BRIV S X S A A 2 25 7E — MEAL(60HRC) “Fifr s
PR 1 .
HiFL7F 4 DIN74-km, 4 DIN912 SLIEIRET .
MR HUBRT . 12.9 BT .
FESEME, AR RAINE I, 4 .

I 2 [
- Yl-- '-Ii— e
a
e
@ H e
5 T “ |
7 ] e 7 %
il L | e
g "|' o yias
ax "] '
o75]) | T Tl f "T T
a3
o aG knife-edge bearings
1= al
The three bearing blades eliminate the need for a polished assembly base.




R 2 WG 0...5kN L 0...10kN

Protaction against
Metal tube CKENg 8y I aD4
T en
@ r
0 E lgl "JT— j—— /-/-/-/J/:'ij | _L
E T //: 1 ]
o = | |
: = | I | 4
: T CEaN | i
— 30— I
) o 03
| aG
RT3 TS 0...20kN LA 0...50kN
5o , £z
3| o oo 5, 88
Sansitivity 28 l [+—o D2 —=| —'l——'— %.g.
{
T l b
T A Efr= ] ¢
7 HE i ‘Jf
TO 0 —» er. |"I_ ‘—l-| T |"—?
| | a D3
oG
e -
RTHE 4 T EVEHE 0...100kN LA 0...200kN
2Zm
gL =
[ 105
By | e D4
— e il
i l— i D2 —»] w17
™ L el E
= N o '\
17 | PR
= ] 0o !
A 7 = L E I il
&"| |"I_ |.| T |-. t _'.I 22 (a—
| e D3
[ 5 G >
- e D1 -
- BY e
I
DB S 3 AR R AR BE R
Order  [for Load Cell with Dimensions  [mm)] Tightening Torque Mass
Code Nominal Load | oD H L T SW(|R [kal
B580-V008 0.5...10kN 14 7.3 7 | M Bx125 - 20 |upto 2 kM: max. 5 Nm /3 kN and 10 kMN: max. 8 Nm| 0.01
B8580-vV0i2 20 kN 20 15.1 12 | Mi12x1.5 168 | 25 b 10 Nm 0.05
B580-V024 50 kN 40 20 17 | M24x1.5 32 |100 " 20 Nm 0.25
B580-V036 | 100 kN, 200 kN | 57 30 40 [ M36x3 46 |200 i 50 Nm 1

[¢— oD

/ DIN 475-5W

Load introduction l
button

REEMBICHIE ARG, AT ZYURRE SR . & RS ml
BRI, AR B . HERIB R IR AR S /iR Z B ).
WM Fe LT BB 4 L, 6T il & i 2 >60HRC.

le—L —l—':—bl P’




DAL

PLARY R T B SIS R AR RN L, ARSI A A
BB A R (5K 1. KRAT5KA...)

B/ E B 5 X MAR SR A R A MR R, FF e LR
R LER) . IR S So R i SR IR S0 20 (IR K)

Order Code |for Nominall  Centric Mass max. Wrench
Load Thread [ka] Torgue for
[kM] Screws 12.9
8580-vV002 to 10 M 8x125| 028 3 Nm
8590-V003 20 Mi2x15 0.70 3 Nm
8590-V004 50 M24x15 22 100 Nm
8590-V005 | 100,200 | M36x3 5.5 100 Nm

Kb ) LA B AR IR AR DR T 4 12,9,

RiAR A 2% W bRdEE 5 0/0.5/1.5/2/3mVIV %, T

BEB I O 2R B N ER, T 72 k) IS 9405
12pin 3k, T3%8 burster & ERI{E BE 9941

9pin #23k, FFi%E#H: 9163-V3. 9235 f19310 Y5  9900-V209
F Ak S A IR AR AR v HH B S R IR 55

1EF B J7 A (i B S 5 R IE) A5 99004
A H T 9163 £ E R R A A5 99002
FET7 MR A GBS RIE) A% 99007
N FEReAR REE 9163 5 ERI A A5 99008
EELThAE

JE 377 i # AR (2 045 0 ) ARSI V400

Load cell with option overload protection for compression direction
Order Code

Measuring Protected | Dimensions [mm)]
Range up to D1 H1

. 500 N 25kN [ 545 19 | 16
1 kN SkN [ 545 19 | 16
2 kN 10kN | 545| 19 | 16
5 kN 20kN | 545| 19 | 16

10 kN 30kN | 545| 19 | 16

20 kN 80kN | 79 25 | 25

HRBPIIRE, TR LGS S S ) (15096407E 73 LA
B WOk R ORI A R AR R DI A RS R B R K
N 130%%5E AR AIRLRS , 5 B s BR A 4k 4 ok S .
BT AR 4 B S AR RS A A A R IR ELAL, SRS T IR L 3
TRy H B R 3R AT MK A

KRER

> AR OUE TR 7175 17

| SUECQUSTAES R TR

> RIS AR I ARt A28 £0.5 %

> 15 Z) I A8 L AR D RE

> AN FCVFEE T BN AR A IRar b, (R VR B B

> i AR R B h RS

8524-5500-V400
8524-6001-V400
8524-6002-V400
8524-6005-V400
8524-6010-V400
8524-6020-V400| 0.

[ B e | e ] e [

RS

FrUEAL REBE 1 mVIV +0.25 % V010
LIRS 3m V203
HLZI KBS Bm V206
MRS, KEE 2m V213
I RIS+ 0.1 % F.S. V502

(H T &G 0...5kN PAW)

b 8 B AR aR

_ Tension and
compression force

Load cell

‘ 7 T3

AN

| | Pull plate
HASRRY KL RS
Drawing ranges 20 kN
Load cell

_—~"model 8524

S

. Overload
stop
D1
1
T E
hi AR J14E %S, =72 0...20kN 8524-6020

IR S e, B 0...5kN, id#EEdT  8524-6005-V400

LR N
BORAS, Flan: 5 9243, Frfandas, filun: A5 9181 5k
DIGIFORCE®%! 2 9306/9310. VE ILAE R

HXE KIRAEUEFS (WKS)
A A% BN A s 48 B PR 7 R PR i 20928 8, ) BB
CN

REISIRENEE (L8) BRAR
Hoht : _Figr iR EER 555 & 3M30
BB3E : 021-52048101 %K : 021-60853394

E-mail: info@bursterchina.com www bursterchina com




